Name:

<3—Digi’r Dividends; Remoinders)

a. 857 +6 =

d. A farmer wants to plant 242
sunflowers. He wants to have
9 sunflowers in each row. How
many sunflowers will be in the
partially full row?

Show your work.

b. The coach of the tennis team
i fAr the

Preview
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the prinfable version of this worksheet.

answer:

4)570

chairs each. How many racks are
needed?

Show your work.

answer:

How many chairs will be on the
incomplete rack?

answer:
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ANSWE R KEY CS-Digi’r Dividends; Remoinders)

(Division)

a. 857 -6 = 14215 d. A farmer wants to plant 242
sunflowers. He wants to have
9 sunflowers in each row. How

the print 1k

How many chairs will be on the
incomplete rack?

answer: 4 chairs
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